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1.  Answer any ten questions : 10x3=30

([ @I Wil ersE Ted wihe)

a.

What are the components of social economics?

e e St & e

Mention any two measures in order to solve the problem of poverty?
VIEOR TP ¥F T G 2O @ (I G5 2MCFA (79 |

What is the relationship between health and development?

FEy G2 AT WG TE 2

. What are the indicators of Gender Empowerment Measure (GEM)?

Gender Empowerment Measure (GEM)-43 foi=i wfet i 2

Distinguish between Human Development Index (HDI) and Gender Development Index
(GDD)?

AR THEe 5 @R fort ST BT @I W AL 79|
What do you mean by 'Women Empowerment'?
TIFF o Iee [ @Rie

Write down the difference between Cost-Utility-Analysis (CUA) and Cost Effective-
Analysis (CEA)?

Cost-Utility-Analysis (CUA) and Cost Effective-Analysis (CEA)-9< N&§ My 14 |

. What is the basic reason behind intervention of the Government into the health market?

FICZD ST ATRICTS A ol A9 PR /62
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1. Human capital formation and signaling both are interlinked with each other. Argue this
Statement is true or false.

TR EL QR RS 277 AFge—[gfels ey =1 fan qeiE 4

j- What is the basic needs strategy in order to maximize health objectives?
FPA Sl AAGE @R AU G AEeE (s e

k. Mention four determinants of health?
Fiezd oG e @9

. What is the problem of moral hazard in health insurance market?
Fd A ASCE moral hazard €3 F5p1 52

m. What are the benefits in case of health projects?
T AFER odieialE F e

n. Mention any two methods to measure burden of diseases?
Burden of diseases €3 (@ (Nl Y 2&fe 14|

0. Define Pareto-efficiency.

Pareto-efficiency € <] WIS |

Answer any four questions : 4x5=20

(@ @I S Arid Tex whe)

a. "There is an interconnection between health and productivity"-Do you agre? Justify with
proper explanations. 243

T AR BLAVTNTOIT N GF6 TG FF Se—gfil F I ? (TN T AATH
(& nie |

b. Write down the early phases of human capital formation.

AR E T AF FIA T SN 79 |

c. What are the problems of adverse selection in health insurance market?
gy I A adverse selection @3 7 & F 2

d. What do you mean by Cost-Utility-Analysis (CUA)? What are the uses of CUA?
Cost-Utility-Analysis (CUA) 3&ce & @2 CUA @3 IRzl e
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e. Explain the initiatives that have to be taken by the Government in order to form human
capital?

AR ER R o) AR 5 & oot fre 2@ ©f SiEna 791

f. Can you predict about the size of India's future workforce?

ofil & efime FHfea 27 TIF @ a7 s oMt e

Answer any two questions : 2x10=20

(@ T w5 e Tea we)

a. Mention and explain the inputs into the production of health care?
TP A G ARG SoAmIwl & 62 qafy il w0
b. Briefly explain the instruments of redistribution?

HTITER TAMTSE SNEADA 4 |

c. What is market failure? Explain the policies that have to be undertaken by the Government
in order to improve the health market?

e el [F2 FER ASET TAfod T TRFRE @ Afosi e 2@ eref @4

d. Write down mechanisms from demand and supply side for the provision of public
insurance.

TSI R AT oo vt ¢ @6l W9 (9 @ @ smfe @en an—Eraf @
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The figures in the margin indicate full marks. Candidates are required to give their answers in
their own words as far as practicable.
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1.  Answer any ten questions : 10x2=20

(@ @it i oeiw Teg whe)
a. Name the factors associated with Ricardian one sector model and mention which one of
these factors earn surplus.

Ricardio 3 43 (g N(OETE ST TN SE 9 €32 @ ToAdeslE sy @
IR T Uag ©f GEe T+ |

b. Where lies the unique difference between Adam Smith's labour theory of value and
Ricardo's labour theory of value?

Adam Smith-93 5 7IfFe #¥ ©0g7 € Ricardo I o TS =3 wrga Reew 2N
(IR 2

c. What does Says law of market imply?
Jeis 7A@ Say @ @b & @R

d. Distinguish between use value and exchange value of a commodity.
B @A I9REE T @R [T qems sy 591

e. Distinguish between natural wage and market wage.

Frefs Tl @Rk AT Fifre g ANy Foet F91

f. Define commodity following Marx.

Marx (F eI FCI AT AER| WIS |

g. What, according to Marx, are the components of value?
Marx 93 o SR Y09 [ifen Somaef & /e

h. What do you mean by organic composition of capital?

TR (A 915 FeTCo 6 (@ale
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1. Following Marx distinguish between constant capital and variable capital.

Marx (& SePTRe T3 B o @ oA YA AL (7l |
J- State the factors which affect rate of profit.

e cean ket wfie qifeds Soamimef S w9
k. Following Marx make a distinction between labour and labour power.

Marx (& SEPRe I &% @ w5 ifes el o 391
1. What are the components of reserve army of labour?

R CFeae Ehre Wi qifea Soamiael & e

m. Mention different stages of growth, as stated by Rostow.

Rostow Sfaie Sxaea [(fey waufe Smd 41

n. Define realization crisis and mention the two types of realization crisis.

sff o M SFFO] Siel® AT | W€ '€ 5J¢f o) M SFFao] Giel® AT Yo 43
T 9 |

0. Mention the difference between Adam Smith and Ricardo on Stationary State.

b1 S<rgl A9IF Adam Smith and Ricardo I I&F @ AL 4|

Answer any four questions : 4x5=20

(@ @It S Arie Tex whe)

a. Discuss the method by which capitalist can increase the rate of exploitation.
Afersifeal F F Sl R 29 Ja FA00 A O AT SAETb 4 |

b. Explain how Marx defined simple commodity production and show how it differs from
capitalist commodity production.

NS

Marx & ST J7a1 217 Tesivea faal ewifte @ ©f i I @R 4 ToiflEzs o
TeAMET AT 339 A (RS |

c. Write a short note on commodity fetishism.
e Rl R AFEFY B ford |
d. Analyse briefly Netaji Subhas Chandra Bose's view of economic planning.

wefifes “ifswea aw @oife Tor o 977 wfose TREF DA 9|
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e. Define necessary labour time and surplus labour time and show how the surplus value can
be explained with the help of these concepts.

TSR &% Y € Tgg &N M M WIS @R 3 (IFIHT ARy Ty 167 Jfeq faafb
TOIT I T AR ©F (NS |

f. Explain Marxian view that labour power takes the form of commodity in capitalism.

7o A3 IS FAa wel (T—@ F™IE Marx-a9 Toft <Ko 341

Answer any two questions : 2x10=20

(@ @Il %6 etsm Tea we)

a. Using one sector model of Ricardo explain the transition of an economy from progressive
state to stationary state.

Ricardo-3 ¢35 (Fg MG WOEF AR @36 o AT AsfoNs SR (AF 76a
SR GrERT A SNG4 |

b. Analyse the main features 'Underconsumption Crisis' theory as one of the theories of crisis
in capitalism.

(TO(E I ©g AR TOFsel’ ©red o1 @meyaf Rese i
c. Explain the importance of circuit of capital in Marxian analysis of capitalist.

qoifEs smesive afesa I ReRe §fE Agame sy SiEba 391

d. Discuss Marx's view about Stages of growth.

T BT RT@ Marx-93 3917 SNETn 41




